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[ DOSBox 0.74-3, Cpu speed: 3000 cycles, Frameskip 0, Progra. X
To ad just the emulated CPU speed, use and
To activate the keymapper .
For more information read the file in the DOSBox directory.

From: Ziad Adeela Category:  ENCS411

To: Section 1/LG;

[7:\>SET BLASTER=A220 17 D1 H5 T6

Publish Date:  21-10-2020 (14:54)
[2:\>MOUNT ¢ c:vTAsH

Archive Date: 2021-02-26 prive C is mounted as local directory C:NTASMN

Reply Before: 2020-10-22

[Experiment #6 TODO submis:

59 1B 92 01-08

-60
87 E9 00 FO-55
60 10 60 FO-80
00 11 60 FO-20
€O 11 60 FO-EQ
€O 12 60 FO-40
A4 FO 00 FO-60

salam,

Please submit your solution by replying to this memo.

TODO description:

Let's redefine INT 5 to make it subtract the value of BX from AX [AX = Ax - BX].
Please attach a screenshot for the following:

- Interrupt Vector Table entries for the address of ISR of INT 5

- The new ISR of INT 5

- Testing code, by creating a program that fills AX, BS with values and calling INTS after, then showing the values of the registers.
Regards.
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B DOSBox 0.74-3, Cpu speed: 3000 cycles, Frameskip 0, Progra.

CO 12 60 FO CO 12 00 FG-40 12 00 FO 60 10 00 FO
0000:0070 60 12 00 FO A4 FO 00 FO-60 10 00 FO 00 65 00 CO

Lo 100
From: Ziad Adeela Category:  ENCS411 Jos0:0100 SUB Ax, BX
o162 INT 3
To: Section 1/LC; oo
0014 60.00 10.01 ©0.80 FO.06
Publish Date:  21-10-2020 (14:54) :0018 60
i 9 g ;0103
Archive Date: 2021-02-26 oios
0109
Reply Before: 2020-10-22 o108
;0100
[Experiment #6 TODO submission| B €X=0000 DX: SP=FFFE BP=0000 SI=0000 DI=0000
Salam, Josno: 0100 2908 SUB AX,BX
L6 =103
. N . . [Breakpoint interrupt
Please submit your solution by replying to this memo. Jox: BX CX=6000 DX: SP=FFF8 BP=0000 SI=0000 DI=0600
TODO description: N IDS=06B0 ES=06B0 SS=06BO CS=06BO IP=0163 NU UP DI PL NZ NA PO NC
Let's redefine INT 5 to make it subtract the value of BX from AX [AX = Ax - BX]. jo6B0:0163 BBECOO Y X, 000C
Please attach a screenshot for the following: =

- Interrupt Vector Table entries for the address of ISR of INT 5

- The new ISR of INT 5

- Testing code, by creating a program that fills AX, BS with values and calling INTS after, then showing the values of the registers.
Regards.
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